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1.  Which practice will not conserve LPG in your kitchen?
(a) Soaking the dal for some time before cooking it.

(b) Cooking food in a pressure cooker.

(c) Keeping the vegetables chopped before lighting the gas for cooking.

()  Cooking food in an open pan kept on low flame.
e afmaT e TEER | o dio wto G e Bl ?
(a) T & TE o A P A o forg
(b) ST A G THTAT
(¢ g @ R i T @ qEd Wt i HIE Al
(d) @ erdr & F FaTar T IS TH
9J4_/u5’];s_f“s” L.P.G. JLG@»;LJJ‘" sl
¢ -_AL—“:’}{IU”K%G—L& (a)
IR A | w2,
Qé(l(dféc—{;ﬂ?gﬁg— Lt (o)
AR ST C)

2. When a person enters in a new country, it is called:

(a) Emigragion _(b) Immigration
(c) Migration (d) None of these
9 U Al T T 291§ JaA T 8, A SH R R S 7
(a) wardt (b) SmyaTE
(c) wam (d) rg e |
& Ve e bt 2 LTl
(Immigratioﬁw:’-"/é I (b) (Emigratione (aj
P.T.0. A @ FE©
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3., Which is the oldest industry in the world?

(a)  Woollen (b Cotton Textile
(¢) Silk (d) Tron and Steel
mwmmmm%?
(a) o (b) frawsT
(c) weft (d) wiersirzam
Se Sl HEBS
L dr () do ()
LT (@) & ©
4. The average density of population in India i§--- person/kne.
(a) 385 | (b) 45
Ly 382 (d) 442
e B e 1« o1 o S e Rt 2 2
(a) 385 (b) 45
(c) 382 (d) 442
-ﬁ;_}fygd/df ...................... sl S T e
e e
S 442 (d) a 382 (c)
5. Which article of the Indian Constitution states that untouchablity has be
abolished:
(a) Article 14 by Article 17
(o) Article 21 (d) Article 22

2000920 (SET-D)  (4)



A ST @ fve orgede & aer ra & i g e e

() orgeRR14 (b) SRR17

(o) wgEE (d) e
e o) PleA S LT GL Tdase
177 (b) 147 (a)
27 (d) 207 (©

6. How many members are nominated in Rajya Sabha by president?
Ly 12 (b) 10
© 15 (d) 20

mﬁtmmﬁmﬂ’faﬁmwifqﬁﬁHMW% ?

o SRR 57 IARIA LA ISLARIA

(c) 15 (d) 20
St L st A el 5L
10 (b) 12 (a)
20 (d) 15 (¢

7. "A group of girls is harassed by a group of boys." comes under:

(a) Civil law (b) Economical law
(&) Criminal law (d) Social law
“m%wwmm%wﬁmﬁm"mwﬁm%?
(a) AR B (b) SnftfwHT
() oETdFL (d) o BT

P.T.0;
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fe b TeALYIE i “t/uw/:c:/.ﬁéu[ ﬂ,g/s[_u/..ﬂéu/ﬂ ’
o I6gr (@)

YIES (b)
uiﬁ'dzb(y;’ (c)

UIige (d)
8. Indian Constitution begin with a:

(a)  Suggestion (b) Amendment

(c) Proposal _{h Preamble
qmaﬁma%gammaﬁﬁ%?
(a) gR (b) e
(c) v (i), T
B
R 77 (b) > (a)
4 (d) v5 (o)
o, The International demand for indigo was affected by the discovery of-.....
(@) Tea (b) Jute
_(c) Woad (d) Rice
.................. 21 @rer & e T AT HIT I R AL YT |
(a) =& (b) &
(c) s (d) e
SO SASTNLE S 2 Ko
<z (b) e ()
S @ (Woad)sy (o)
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10.

1l

12.

Rashtrapati Bhawan is situated at.....es ;

(a) Aravali Hill _(b) Raisina Hill
(c) Shiwalik Hill (d) Mt. Abu
TEARITET v i
(a) ST vETISATT OIEGERACERIRY
(c) i varfeai @ (d) ATEE AR
_“-_él,{ ........................ WEG 2

{U»f/‘l:{.d!b’ (a)
4 UZJQ;J i (c)

Who was the first Muslim President of Indian National Congress?

(a) M.A. Jinnah (b) Abdul Kalam Azad

(c) M. A. Ansari dg,)/Badruddin Tayyabji
ey T T 3 T SR ST AT & 7
(a) wHO Qo fT=TE (b) ST HATH SATATE
(c) uHoTo AR (d) weegdAdEasht
& &Lu:’f(‘)'ﬁ/ i
15Tt (b) Uzl (a)

Goef i (d) el (c)

Under which system

revenue and paying it to the Company. W

(a) Permanent Settlement (b) Mahalwari System

(c) Munro System L/(ﬂ)— Ryotwari_System

P.T0:
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fooe 9y T woneht @ siefa Ca™ UH@ S I TEE ST 99 FEA )

ST B AT ey & Wl 2 _
(a) varfrsdEe (b) were A e
(c)  Trrayawer (d) martraa

s L] G S S “Ulerui¥ AL B

sermamuinsuin - [ Al W

B (d) rs” ()
13. Gandhl_u broke the salt law at Dandi in.coooeees s
(a) 1930 (b) 1931
(c) 1932 L (d) 1929
T e B 1 1 A T H A |
(a) 1930 (b) 1931
(c) 1932 (d) 1929
RIS s sisnnssinnss VALY PE Y
1931 (b) 1930 (a)
1929 (d) 1932 (c)
14. Tipu Sultans Sword was made of..ccoens :
(a) Copper (b) Steel
(c) Brass _ L@ Wootz Steel
WW‘*W .................. g+ ofi-
(a) T (b) e
(c) i (d) g

2000920 (SET-D) | (8)



W L1 ) =t (a)

15. The tank and ponds specially constructed for the breeding of fish is called:

(a) Agriculture _ (b} Pisciculture
(c) Viticulture (d) Horticulture
mmﬂ%mﬁmm%ﬁﬁammWﬁwm%?
(a) (b) B
(c) fRwwR (d) e
L g&gg.,,uréé_b.;u?xfug.éigd‘f
A5 ) S=26 (@
Jit (@ Ab ©
16, Which city is known as the "Manchester of India"? '
(a) Bombay (b) Delhi
((c)~ Ahemdabad (d) Kanpur
| mmﬁ“mmm”mm%?
(a) = (b) fewdt
(c) EHETETE (d) AL
e WSTHRS
s () & (a)
PTO. . % (d) A2 (o)
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17. What is the Full Form of FIR?

(a) First Information Report (b) First Information Result

(c) First Incident Report (d) None of these

o o I H1 T & fefae-
(a) wemrgETRAE (b) aifer gEATRAE
(c) vyt g RUrE (d) 7% & &IE T8
| ssriamamnuAIsNIA PRI
.f?(ab‘"’f (b) J«J{J&%W'& (a)
S (@ sf2nd (0

18. The key players in Indian Criminal Justice System is/are:
(a) Criminal and Police
L/(,b)' Police, Public Prosecutor, Defence Lawyer and Judge
(c) Police and Public Prosecutor
(d) Police, Defence lawyer and Judge
e SR =T Wi & e HfHeT et 8-
(a)  Srquret iR g @l
(b) e, S T, T T DI A T I
(c) ofora SR aaI aaid
(d) gfer, T=Ta ver Fre SR A Bl

2000920 (SET-D) - (10)




19.
(a) Akbar (b) Shahjahan
(c) Bahadur Shah Zafar \Jg)/Aurangzeb
Rl T T T AT b fiRae 6 E 7
(a) S (b) smEsTEl
() ETG AMEJH (d) e
St cr S Dbt
Uzl (b) A
ek (d) Jhtaly (0
20, When did Delhi become capital of British India?
e 1911 (b) 1909
(c) 1808 (d) 1857
et Rrfrgr T @b TreeIT=t o 91 7
(@ 1911 (b) 1909
(¢) 1808 (d) 1857 foad 18
' | _P.T‘.’O.‘

?‘Lﬁuu/w:ﬂ(w}&_:‘wmﬁdt“/m

fogaf @

(EmJosiosg oty
ssrmmamiuiaisann  EETATVCIIOR

Enfosbsty (@

Mughal Empire started to decline after the death of:

2000920 (SET-D) (11)




9(3:J:/Jébbp(.:ulédj/_d,

1857 (d) 1808 (c)

21. Diameter is:

_(a) twice of the radius (b) half of the_ radius
(c) equal to the radius | (d) one-third of the radius
T 8-
(a) TR B (b) amem B
(©) wd s @ 5 P
e B
G ide id (b) et (a)
GEide 3 (0 EBade iz (D
1 22. The quadrilateral whose diagonals are perpendicular to each other:
(a) Parallelogram ~ (b) rectangle
(c) kite (_(dy rhombus
T e faef v g & waaa 8- |
(a) WA AT (b) s
(c) waT (d) Fwagyw

S LIl dp)?

% S ) Loz (a)

& (d) & ©

2000920 (SET-D) (12)
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23. Each of the angles of a square is:

(a) acute angle (b~ right angle
(c) obtuse éngle (d) 180°
il &1 T HIT -
(a) T (b) FwET
(c) sftEHHT (d) 180°
(O IAMABILIA RANIA | it
Z6s15 (b) wlysts  (a)
180° (d) 2#unls (c)
24. Ify- coordinate of a point is zero, then this point always lies:
(2) 1 quadrant (b) 11 quadrant
& X-axis (d) y-axis
s s Y s e R, 7 T R R -
(a) 1agate (b) 11 =gt
© *-om @ ¥om
o Simare Pyl E LN
#/ ngs (b : 1% (2
y-4#  (d) ~ x-s#  (c)

25.  Find the incorrect mathematical statement:

@) Hx-9)=4x-20 Py Ix+2x=5

(c) x(3x - 2) = 31:2 +2x (d) 2x+3x=5x

2000920 (SET-D) (13)
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ST TR e gre A ifTa-
(a) 4(x-5)=4x-20

(€) x(3x+2)=3x2 +2x

3+2xr=5x%  (b)

2x+3x=5x (d)

(b) 3x+2x= 5x2
(d) 2x+ Ix=>5x

4(.\' - 5) =4x-20

Mookl |

()

x(3x+2)= 3x? +2x (c)

26. The cube of 4 is:
(a) 12 (b) 8
(c) 4 b 64
4 T &
(a) 12 (b) 8
(c) 4 (d) 64
‘aw:f(/;
8 (b) 12 (a)
64 (d) 4  (c)
217. lf(x—2) is a factor ofx3_3x+5a, then the value of 3 1S:
(@) 1 (b) -1
(c) 2/5 () -2/5
R (x-2), 3_3v45, FTTEEE, A 4 BT - j
(a) 1 (b) —I j
€ 2/5 @ 25  p=6%7" 4
YR S
2000920 (SET-D) (14) 2% %
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-1 (b)

~2/5 (d)

4 4 4 -7 4 2x-1
28 9 s 9 =9 then the value ofx is:

29.

© 2
-0
(a) -1
©

The square root of 169 is:

(a) -13

(c) -1.3

169 o1 I &-
(@) -13

(c) -1.3

2000920 (SET-D)

B | —

]
) 3

d) 1

?‘L.:,EJ a?%Q},ZK.t3—3x+Sa ‘(X—Z)ﬂ

1 (a)

2/5 ()

a9 x HIAFE!

]
®) 3

(d) 1
_4‘-._:»4'." $ (
(b)

(d)

(b) 13
L@y 13

(b) 1.3
@ 13

(15)

9

P.T.O.
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e G UigK 169

1.3 (b) -13  (a)
13 (d) -1.3 (C)
30. On increasing the diameter of circle by 40%, its area will be increased by:
(@) 40% (b) 80% \4\?\/*
oy 96% (d) 100% ~ LR ¥
T T T 40% TG T SHEHT S [eher=T g AT ? AL AS
(@) 40% (b) 80% >
() 96% (d) 100%
80% (b) 40% (a)
100% (d) 96% (c)
31.  One hectare is equal to:
2
(a) 100 m (b) 1000 m’
(o 10,000 m’ (d) 10,000 m
TS T A 8-
(a) 100 m> ~(b) 1000 m?
(¢) 10,000 m? ‘ (d) 10,000 m
~g e g
2
m“1000 (b) m* 100 (a)
10,000 m (d) m*10,000 (o)
2000920 (SET-D) (16)



32. T is:
L}a)- ratio of circumference to diameter.

(b) diameter to circumference

(c) 21/17 ;
@ 34 | —
n (q'|§)%.
(a) ofifer ofiR = &1 U (b) =T SiRaRfEr
(c) 2117 (d) 3.41
ANk
L2114 (b) ceEBnlbs (a)
3.41 (d) 21/17 ()
33. A polygon with minimum number of sides is:
(a) pentagon (b) Square
e triangle (d) angle
@wmmﬁmgﬁrﬁs’lﬂ’rﬁ-
(a) v (b)
(c) Prgr (d) T
srdnd Wt 8L
&y () 3" ég (a)
2 (d) el (o)
P.T.O.
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34. What cross-sections do you get when you give a vertical cut to cylindrical base?

(a) rectangle (b) Square

\}y/)/ Circle (d) triangle

o1 T R T A B O @S FTe &, 7 g T e NI B ¢ ?

(a) o (b) =
) T (d) Prg

St Mo I o2 e s Lo e sfe

&, (b) -l

L5 (d) o/ (c)
35 A cuboid has e vertices.
(a) 4 (b) 6
PO d) 12
T g9 & §ief et #-
- (a) 4 (b) 6
(c) 8 (d) 12
Sser v~ RTINS
6 (b) 4 (a)
12 (d) | 8 (c)
36. The value of 2x(-3x) is :
(@) Sx° (b) 6%
() -5 Ly~ —6x

2000920 (SET-D) | (18)



3.

& L bt E i 3L A
" (b) J (a)
Jo (@) v (©

Which of the following is not binomial:

(a) m+n LW"

) m-n @) m?-n?
Fr=tferfaa & e @i &-

(@) m+n (b),

©) m=n (d) m*—n?

| -2000920 (SET-D) (19)

2
(a) Sx (b) —6x
(C) —sz (d) _6x2
s sunn — [RSIRICVEN

T () | 52 (@)
-6x%  (q) 522 (o)

. N is a skeleton-outline of a solid that can be folded to make it:

(a) Vertices (b) edges

(c) faces ¢ Tet

T& 319 o Bid & U9 H 41s w9 &, 99 3 fre-

(a) ofrd (b) R

.(c) e (d) <

P.T.0.



(-'4". u.‘{ Gg»gﬁd: Sos ke
mn (b) m+n (a)

m* —n*  (d) m=n_(c

If the length of each side of the equilateral triangle is 1, then the perimeter of the

equilateral triangle is:

| (a) 31 (b) 3+1
1
U 7 o 81 @ 3
af T I Y e e 1 3, e awarg B @ i g
7 (a) 31 (b) 3+1
- I
\ ~ () 3-1 @ 3
N ?(nj‘&ﬁfdﬁvq‘c lCW’/:deud’ngﬁ
3+1 (b) 31 (a)
1
-3- (d) 3-1 (c¢)

40. The compound interest on Rs. 30,000 at 7% per annum for a certain time is Rs.

(a) 2 years (b) 2.5 years
(c) 3 years (d) 4 years
| o 30,000 T THIRE A 7% At T & ua ffier T 3 forg To 43478
‘;I FHAEIT-
, ' (a) 2°d (b) 2.5
) sad (@ s
2000920 (SET-D) (20)
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- &4, 347 L S Pl o 1% oy 4-+/30,000

Ju2.5 (b)

Jua (@)

41, The ratio of 3 km to 300 m is: W

10 1 (b)
(¢ 1:5 (d)
3km &R 300 m T FHI -
(@ 10:1 (b)
(¢ 1:5 (d)
1:10 (b)
1:3 (d)
(\:19 What will be the unit digit 0315625
() 5 (b)
(c) 3 (d)
315625 a1 TS e T B 7
L@ 5 (®)
0 (b)
P.T0. ol

2000920 (SET-D) (21) |

Juz (@
Jl/3 (c)

1:10
1:3
1:10
123
e 300 myl 3 km
10:1 @
1:5 (9
0
4
0
4
AN (1 315625
5 (a)
3 ()



43. Sum of 3 mand 2 n is:

(@) 5 mn - (b) 3m + 2n
() 5m (d) 5n
3m SR 21 g -
(@ 5 mn (b) 3m + 2n %
€ 5Sm (d) 5n |
e U¥ 23 m i
3m + 2n (b) 5mn (a) |
5n (d) 5m (c)
V288
® % ® % |
© g @ 2
45.  What will be the number of zeros in the square of 400? ’;
(@ 5 ) 1
© 3 (4
400 & 7 & frert gy €t 2 ‘
(@) 5 (b) 1
(c) 3 (d) 4
L unp& 8L 400
L W) 5 (a)
4 (d)

3.

2000920 (SET-D) _ (22)




46. How many measurements can determine a quadrilateral uniquely?

(a) 2 (b) 3

(c) 4 @ 5

e fafyree agfer it et wme frafRa stasd € 2

(a) 2 (b) 3

(c) 4 (d) 5

- ssramamiasumia - IENEZIV A Pt
3 (b) 2 (a)
> @ 4 ©

47. The diagonals of a rectangle :

(@) cqual to cach other (b) not equal
(b) one is double of other (d) none of these
e @ faesvf 8-
(a) THTRDIH (b) T
(c) T AT & T &l (d) w7 & g T
:u_:};[..)f:/
ujgﬁ-‘/‘/.'/. (b) Ml ikl (a)
St (@ e melthinf ()
" 48 How many diagonals does a convex quadrilateral have?
@ 2 ®) 1
(c) 3 (d) 0

P.T.O.

2000920 (SET-D) (23)
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el e

U 300 qEW | o i & 7
(@ 2 (b) 1
(c) 3 d 0
S HE LS st

(s el -9

0 (d) 3 (o) g
49. (@ +5)(a=b) i canal to: 3
(a) (a2 +b2) (b) a2 — b2
(c) a*+b*+ab (d) a*+b%+2ab
(a+8)(@a=b) e
(a) (az +b2) L(b/)az B2 ,
(c) a? +b? + ab (d) a? +b2 + 2ab 2
J
‘eslz(a+b)(a-b) E
a=b* (b) [+5) 5
a® +b% +2ab (d) a* +b2 + ab © ?

50.  Which of the following is not a linear equation?

(@ 2x+5=7 b) x-7=0

5x _

(C) 3 1 {9_ 6x+7

2000920 (SET-D) o (24)




o (b) x-7=0
25
(c) 3 (d) 6x+7
x—=7=0(b) 2x +5=7 (a)
) 5:
6x+7 (d) _3‘:21 ©

51. A person caught firc on clothes is wrapped with blanket because:

(a) The person suddenly feels cold.
(b)  to hide the burnt body parts
(c) The perosn's clothes gets burnt
L)SL) To reduce air supply and put fire off
FUSH & ST T §C st 5 e i e o & -
(a) o SATEHI Bl SHATTD ST |
(b) o gu ST @ o gum & fl

(c) sziﬁ%m'gﬁrﬂﬂﬁ%l
mqﬁfﬁmmﬁa‘»maﬂtmgaﬁ%m
P.T.O.
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SAPDANN (I g U
e b E T ()
LLilgI2t vk ()
(AW BICEREER IR | s
LLiES i b (d)
52. The energy of food is measured in:

(8 Calories (b) Kelvin

(¢) Celsius (d) None of the above
ST B St e o ot & 7
(a) il (b) e
(c) fceww (d) ¥ st
R A ISHN
U (b) 24 (a)
VAT ® S
- 53. Which type of plastics can be recycled? |
(a) Thermosetting plastics (b) Thermo plastics
(c)  Poly styrene (d) Bakelite
febwr e  {: wfieet e o e ® 2
(a) ewfdframfes (b) etz
(c) urirer (d) IHamEe
Felte ALELER
At ) Lubri ()
AL () LAy (o)

2000920 (SET-D) (26)




54, Which of the following can not be charged easily by friction?

(2) A plastic scale (b) An inflated balloon

() A woollen cloth  (d)A copper rod

Feferfiae & & R refor gy o & ot e fea o e 2

() wREHITE (b) e ge AT

(c) iU (d) dREred

Sy sil il S LT

sl (b) S ey (@
GAGLt (@ s

55. Mangalyan has been called "The Super Smart Space craft”, which organisation is

LMD

(@ ISRO (b) TISCO

(c) PSLV (d) NASA

FEAT BT I TS T o T &, TR I WS ST & 7

(a) & (b) et

(c) dro wHo Teo dlo (d) =

e lﬁrg Jquﬁd ‘-“.—Lfbf'i:)l/u:‘e’ 1@%4/,”)@5&

£ () sy (a)
Lt (d) G-dlr-d (O

in a dark room because:

L/(,b)/ Objects do not reflect light
(d) None of the above "PTO

56. Object can not be seen
(a) Objects reflect light

(c) Objects consume light

2000920 (SET-D) (27)




TELHT Dt SR B F 78 @ o7 T -
(a) =g wemrer Y WA H E |

(b) =g wamrer Y watefa T wwet ¥ |

(c) =gt vmor U E |

@ e (CORRRERANA

&S Cﬁlglo‘f:uﬁ‘/;:?'tﬂé—/ '-1.(”0/
-SSR SEE (b) g EedEw ()
AT () -@J/JWI&’Z;.L/‘I (c)
57. What is the ful form of CNG?
(a) Common Natural Gas (b) Cold Natural Gas

(c) Carbon Natural Gas _Adr Compressed Natural Gas

Hio To o HT i A 7T & 7
(a) o UTHfas T\ (b) ZSrurHios Tw
(c) wreargfaes T (d) wfifse argferss
e WSS
Addy ©) S ALse @
Abbid @ Abdgk (o)
58. What is considered to be an important solvent ?
(a) Milk by Water
(c) Petrol (d) Diesel
U qEAYU! FawTae feheht AT S & 7
() T (b)
(c) W (d) Srore

2000920 (SET-D) (28)




e b T eI

3 () s 1)
Jzs (@ Jn ©
59. When do we celebrate 'Earth Day"?
@ 22 Apiil (b) 6 August
(c) 2 February (d) 21 June
o “gedt Raw F A 8 ?
(a) 2230w (b) 63T
() 2wEd (d) 219
sp b VAL
=J6 (b) Jm2 @
uz21 (@) $sf2 (0
6. Scientist who discovered fermentation. [ S8F JAMIAMILLIA ISLAMIA |
(a) Alexander Fleming __(byLouis Pasteur
(c) John Mendel (d) Edward Jenner
Wﬁ@wmmaﬁm%-
(a) TR AT (b) T
() wtrivsd (d) TERST
-q-uwwuz./;:’p,&f
j!;,tff” (b) ﬁkﬂ (a)

. 23kl @ Jizgl (o)
P.T.O.
2000920 (SET-D) (29)



61. A large unit made by combining many repeating small units.

(a) Monomer t_(b)—Polymer

(¢) Glucose (d) Ethylene

% LB AT ATl BYY Sepraat 6t rement aTe Tt e 8 T A et -
(a) HFPR (b) uriiR

(c) Tk (d) zemei

- 8320010 B B

LB () W )

62.  Sound can not travel though:

(a) Air (b) Water
Lp/ Vacuum : (d) Solids
(a) ag (b)
(c) ot . (d) =t
Se LA T
3L (b) ‘ v (a)
I C) s ()
63.  The transformation of the larva into an adult through drastic changes is called:
| -(a) Metaphase (b) Meta stasis
(c) Meteorite ' -~ (d)Meta moxphosis.
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RN AR T et s o v B
1 Ry (b) Herefir
(©) e (swfie) (@) ersrnir ()
W S A n kN LU s
Ukl () Ao @
7 (d) abs ()

64. The male hormone is:

(a) Estrogen (b) Progesterone
& Testo sterone (d) All of these
Y T ETHI I B € 7 .
(a) TERH (b) SRR
(c) W (d) =+t
Se_trluduriky
o 42 (b) Far (a)
Sz (@ Ui ()
65. A device used to rediice friction in the axels of cars and shafts of electric motors is:
(a) Screw (_(b)Ball bearing
(c) .Nuts and Bolts (d) Coarse substance
e e 1 TG S T A g e Y T H R gwT e
T 1T STHT 8-
@ @& (b) awraftn
() TeRTEEE (@) Az

P.T.O.
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T e o

66.

67.

il (d) S (o)
The animals that produce new young ones are known as:
(a)  Oviparous (_(b)~Viviparous
(c)  Both (d) None of these
Ty =t o= 33 At sttt Y et orva -
(a) s o (b) gt
(c) < (d) =79 & & &
‘e Pblunded i Sz
Vs (b) JrSsl (a)
Gt (d) Ut (o)
Which of the following is not a constituent of petroleum ?
(a) Paraffin wax (b) Lubricating oil Y
(c) Petrol __(d) Wood
ﬁwﬁli’aaﬂ‘#aﬁwﬁaﬁma?rmaﬁ%?
(a) wHFIT (b) Eewdw
(c) - (d) st
?‘gu:"‘/.%,/ﬁufa_gﬂ‘}.s;/w
Libd St8 (b) e (@
) | Jie (@)
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68. Larynx is called:

L_Q)/ Voice box (b) Music box
(c) Respiratory organ (d) None of these
%5 [l Fedt & 7
(a) aTEEEERE (b) waforem atar
(c) ‘EmEhamt (d) T
L
Sz © A @
AR SisEids (@
69. Conversion of dead vegetation into coal is called:
(a) Coal gas &,Carbonisation
(¢) Distilation (d) Natural gas
A gt @ Haq § aaT B Hel A & y
(a) HEAI™ (b) rIRTT
(c) e (d) srepfers T
S SRR E sy oy
Sk (b) A @
Ads @ s ©
70. Sodium metal is stored in:
(a) Water (b) Alcohol
(c) _Kerosene () Ether
T e e T S g?
@) T (b)
(c) ﬁ'{ft%‘laﬁ (d) = P.T.O.
(33)
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a ?q_t'xlw':a{ﬁgfalwr{jy

o i sunin gl
B A1 (@)
71.  This part of the eye controls the light entering in it.
(@) Cornea | (_(b) Iris
(c) Pupil (d) Rectina

@ T PITET T I TAY T AT G197 F1 =i Har s ?

3 ()
L ©

?g‘:.t'/d:/"’g(ﬁ/dbi.nﬁ}u:g/ '.bl/c):'/ KET

(a) wWwHUEA (b) ReaRET
(c) geelt (d) gRevem
7 (b)
6T (@)
72.  Two parallel plane mirrors give TiSE fO--wmwemweees images.
(a) 2 (b) 3
(c) 7 L(d/)lntinite:
ammm ........................ g‘fﬂ'ﬁﬂ‘a’.ﬂﬂ%l
(a) 2 (b) 3
© 7 (d) s
3 (b)
st (d)
(34)
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73. In example of a non-contact force is:
(a) force exerted by us to lift a bucket.
(b) push a stationary car.
L};), force exerted by magnet
(d) hit a cricket ball for a 6 run
A T FHT T LB &
(a) aTEEY IoT o fRTQ BRI G A T A
b) U e BT H BT &

(
QU RRER  SOT AMAMIUAISAMIA
(

d 6 fog e AR
:é"_dl'}‘vgd/:a;.kﬂ/ﬁ?

ﬁwdﬁﬁcafd/hééd.m(yl (a)
l.';_)h’)»’; b/d/xd /‘( (b)
&wﬁlﬁéﬁﬁu’f = (c)

thetd Lo (D)

74. Rust of wheat is caused by:

(a) Bacteria (b) Virus

k})/ Fungi

(d) Protozoa

%% i e R g A © ?
(a) o (b) famy
(c) =a® (d) werireT
?§—3!L£JL£RJ{lfvdlﬂmr
J# (b) LE G
Tu';,{ (d) iz% (o)
P.T.O.
(35)
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75.

PRSI S5

Mircrobe involved in curd formation:
(a)  Amoeba (b) _Lactobacillus
(¢)  Rhizobium (d) Bread Mould
R~ i
(a)  onfrar (b) AR
(c)  rEsiferm (d) F=He
N/ Y SMN S
S (1) el (a)

Aviz (d) @7 ()

Passage:

An owl is a bird. There are two basic types of owls; typical owls and barn owls.
Owl live in almost every country of the world. Owls are mostly nocturnal, meaning
they are awake at night. Owls are predators-they hunt the food that they eat. Owls

hunt for mice and other small mammals, insects and even fish. Owls are well
adapted for hunting. Their soft, fluffy feathers make their flight nearly silent. They

have very good hearing which helps them to hunt well in the darkness. The sharp

hooked beaks and claws of the owl makes it very easy to tear apart their prey

quickly, although owls also eat some prey whole.
Owl's eyes are unusual. Like most predators, both the eyes of the owl face front

The owl can not move its eyes. Owls are far-sighted, which means they can see very
well far away. Fortunately, their distant vision is what they use for hunting and they

can see far away even in low light. Owls have facial disks around their eyes, tufts of

2000920 (SET-D) (36)

-3 A
1 | resaccy peas= | 1 | B e e — | T  — . i e




feathers in a circle around each eye. Owls can tumn their heads 180 degrees. This
makes it look like they might be able to turn their heads all the way around, but 180
degrees is all the owl needs to see what's going on all around. Perhaps because of
the owl's mysterious appearance, especially its round eyes and flexible neck, there
are a lot of myths and superstitions about owls. Many cultures believe that owls are
unusually wise. Because owls are nocturnal, some cultures associate owls with bad

omens. The screech of the barn owl is considered by many to sound eerily human,

like a person screaming. In fact, some owl species may become extinct because of

76. Which of the following is not true about owls?
(a) Owls eat small animals.
(b) Owls are able to fly silently.
(c) Owls have the best hearing of all bird.s.
(d) Owls are not predators.
77. The eyesight of the owl is used for....- ;
(a) flying (b) hunting
(c) sleeping (d) none of these
78. The purpose of this short article 1§ :
(a) to entertain (b) to inform
(c) to persuade ' (d) none of these

P.T.0.
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79.  Suitable Title for this story can be:eweeees ;

(@) Owls hunt at night (b) Owls can fly silently

(c) Owls are interesting animals (d) Owls have flexible necks
80. Two species of owls meantioned are::-- .

(a) tawny and spotted (b) typical and barn

(c)  Great grey and eastern screech (d) Boreal and Eurasin
81. The synonyms of Resolveis: W

(a) Forget o (b) Refuse

(c) Solve (d) Virtue

82. The antonyms of Follow is:

L@/ Lead (b) Pursue
©) Go After (d) Short-lived

83. Marked by or Showing Bravery

L&)/ Valiantly (b) Nobility
(¢) Delivery (d) Defend

84. The formal study of arts, especially in relation to the idea of beauty

(8}~ Aesthetics (b) Cascades
(c) Architecture (d) Artefact
85.- The boys «weevieeeee football for three hours.
(a) playing L}_\,have been playing
(c) are paly | (d) were play
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8 6. The ram .................. before you arrived.

(a) stops (b) had stopped
(c) - stopped (d) stop

g7. It was Very noisy next dpor. Our neighbours.. a party.
(a) have (b) am having
(c) is having _(d)- were having

g8, s a cheese pizza.
m. i I ;I.I I; ;m

(b) will having

(a) am have
(c) - will have (d) having
9. 1 would rather have coffee:- e tea.
(a) on behalf of (b) on the contrary

(d) in case of

k}) in spite of

90. She was hiding the camera. her brother.
(a) of L(,b')/from
(c) by (d) in
91. My mother said that she would speak here.
(a) My mother says, "[ will speak here."
(b) My mother said, "] speak here."
L}o)" My mother said, " will speak here.”

(d) My mother says,
by the Muslims

" speak here."
at the end of the month of Ramadan.

92.  Eid-ul-Fitr e

(a) celebrate (b) is celebrate

(c) s celebrated (d) will be celebrated

93. May the Almighty help in this Pandemic!

y Optative sentence (b) Negative sentence
(c) Botha and b (d) None of these —
(39) -
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94. What time -coovnn... tomorrow?

(@)  does your train leave. (b)—will your train leave

(¢)  your train leaves (d) train will leave

95. We o but we decided to drive instead.

(a) was going to fly (b) would have flown

t_{ey~ were going to fly (d) will fly
96.  Ability to be upheld or defended W
(a) Sustainability (b) struc%ure o
(c) stable \_(d)—principles

97. Ashoka was the greatest king that ever ruled our country. in(to negative sentence)
(a) Ashoka was not a great king that ruled our country.
(b)  Ashoka was a great king, who did not rule the country.
(c) No other king that ever ruled our country was as great as the king Ashoka.
(d) No one like the king Ashoka ever rule our country.
98. The dog waited for his master at the gatein (to interrogative sentence)
& Did the dog wait for his master at the gate?
(b) Do the dog wait for his master at the gate?
(¢) Did the dog waited for his master at the gate?
(d)  Why did the dog wait for his master at the gate?

99. The meaning of Snub is:

(a) Welcome (b) Flatter
(¢) Regard L@,lgnore
100. The meaning of Improbableis:
‘ (a) Believable (b) Real
(¢) Ordinary ((d)Rare
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